% 32 88
2 hi
18.2.1 467
£ 1R
1.C 2C 316 4.15°
5iERA .- DU ABCD 2HIE,
./ D=/B=90°,AD=CB.

AD=CB,
TEAADF FIACBE ', | ~D=2B,
DF=BE,
~.AADFx ACBE(SAS).
~AF=CE.
6.8 7.120
8.f#.(1)IFMH.--AD LAB, /i E /&
BD [HH 5,
.-.AE=%—BD=BE.
.. EAB=/B.
./ AEC=/EAB+/B=2/B.
-/ C=2/B,
./ AEC=/C.

(2)f(1),15 BD=2AE=17.

A e, 75 AB=\/BD*-AD? =
15.

. AABE WJEH<=AB+BE+AE=32.
9.3V17
&£ 2 iRt

1B ZEARME— A 2 ABC=90°%

2.56H6

3R .- I ABCD J& 47
W,

~AB//CD,AB=CD.

--AF=CE,

~FB=DE.

- U3 BEDF & ¥4 Uik,

~*BE_LCD,

./ BED=90°.

- WU BEDF 4.

4.D

5 ZEAME— 4l AC=BD 5 ~ ABC=
90°

6.1EFA .. PUiifZ ABCD H,AB=CD,
AD=BC,

- PUIE ABCD 217 MUilE.

~AC=2A0,BD=20D.

-*OA=0D,

~AC=BD.

- P93 ABCD 4.

7.D

8.ERA. "AD J& Z BAC fF-4r4k,

./ CAD=/BAD.

'AE J& 2 BAF B9 404k,

./ BAE=/EAF.

-/ CAD+ /2 BAD+ /. BAE+ 2/ EAF=
180°,

... BAD+ £ BAE=90°,

Bl 2 DAE=90°.
-*AB=AC, ~ CAD=/BAD,
~AD_LBC,
B 2 ADB=90°.
¥ / AEB=90°,
. VU1 ADBE JE4HTE.
9.A

3 AR
— JEEE
1~3.ABC 4~6.DBA
ZEEm
7.14 8.3V3
2. 10.5
11.V'3 12.(-1,V/3)

13.4ERA .- TUiJE ABCD 2470

Wi,

90°.

~.CD=AB,CD//AB.

-'BE=AB,

~.BE=CD.

- UL BECD 247 Uik,
--/ ABD=90°,

./ DBE=90°.

- Ui BECD &% E.
14.3ERA.- - PUiJE ABCD 2AHIE,
L A=/D=90°,

*EF L CE,

./ FEC=90°.

. LAFE+ ZAEF= £ AEF+ /DEC=

./ AFE=/ DEC.
TE AAEF fM1ADCE W,

/ AFE=/ DEC,

LA=/D,

AE=CD,

~AAEFx ADCE(AAS).
~AF=DE.

15.f% . (1EF LACIFBHINT .
A, ## AE,CE.

(% 1548)
--/ BAD=90°,E Jy BD M A,

1
~AE=--BD.
--/ DCB=90°,
1
.'.CE:?BD.
~AE=CE.
FJEAC AT,
~EFLAC.
(2)--AC=8,BD=10, E,F 4l &1

BD,AC B+ A,
~AE=CE=5,CF=4.
"EFLAC,
~EF=\/CE-CF? =V/5%-4% =3,
16.3ERH: (1) Ui17E ABCD 2
TIUHIE,
~AB=CD,AB //CD.
.2 ABE=/ CDF.
*AE_LBD T+ E,CFLBD T/ F,
~AE//CF, /GEF=/AEB=/ CFD=
90°.
TEAABE M1ACDF H,
£ AEB=/CFD,
/ ABE=/ CDF,
AB=CD,
~AABEx2 ACDF(AAS).
(2)A(1),7% AABEx ACDF,AE //
CF.
~AE=CF.
-EG=AE,
~EG=CF.
- VUi EGCF 2 AT IR,
X / GEF=90°,
- MUY EGCF 25EIE.
17 f&.(1)IEM .- -A0=0C,B0O=0D,
- VUihIE ABCD & 17 MU IE.
--/AOB=/DAO+/ADO=2/ OAD,
... DAO=2ADO.
~A0=DO.
~AC=BD.
- TUii¥ ABCD 250E.
(2)-- PUiLI¥ ABCD 24,
~AB//CD.
./ ABO=~CDO.
-+ / AOB: £ 0ODC=4:3,
./ AOB: 2 ABO=4:3.
./ BAO: L AOB: Z ABO=3:4:3,
-»/ BAO+/ AOB+/ ABO=180°,
./ ABO=54°.
-+ /. BAD=90°,
.2 ADO=90°-54°=36°.
M,
18.f#% . (1)IEM .- -MN J& AC RV
Bk,
~AO=CO, 2 AOM= £ CON=90°.
- Ui ABCD £4E,
~AB//CD.
S /LM=2N.
TEAAOM F1ACON H,
/ZM=2N,
/ AOM=/ CON,
A0=CO,
- AAOMx2 A CON(AAS).

15
(Z)T'

F4T

58 20 HA
2~3 it
— EZEH
1.2V'5
2 K AHEE RIS = B 425
3.10
417
5.45°
6.4.8
ZIEES
7~10.CBBD 11~14.CACB
= BEH
15.%% .- 'AB=AC,AD & AABC 1YY
~AD 1L BC,BD=CD.
£ Rt AABD "', ~ ADB=90°,AB=
13,AD=12,
M4 ) JioE 4, 75
BD=\/AB*AD?=V/13%>12%=5(cm).
..BC=10cm.
1658 .24 2cm 2RLIET 5 = K

WV 2-(\/2 2=\E-2=\/2 (cm);
2/ 2 cm Al 2cm S E A B, 5
=K V(N2 2 = VA2 =
V6 (cm).
BTN 2 em i/ 6 em.
17.f%.(1)5,20.
(2) AABC /2 H i =fE.
1IERH] : BC=BD+CD=5.
'5+20=57, Hl AC>+AB?=BC?,
. £ BAC=90°.
- AABC 2 Hff =fMIE.
18%%. -~ A N Ef ,AD=12,AB=16,
R 2) e 2, 75
BD=\/AB*+AD?=1/16+12?
=1/400 =20.

--BD*CD*=20%+15=625=BC?,
~ABDC & HM=/,H ~CDB
HEAM.

-'-SAABD=%X16X12=96,SABDczix

2
20x15=150.

- WUl ABCD 9 1 Bk 96+
150=246.

19.8%.-- 7EAABC "', Z ACB=90°,

- AC*+BC?=AB2

WAC KR x R,

--AC+AB=10,BC=4,

~AB K A (10-x) R

- Xo+42=(10-x )2

fi A5 x:%.

HACHTK AR,

20. %% . (L) M4l 2 JioE 21, 753 AB=
V5417 =\/26 ,BC=\/44+22 =2\/§ ,
CD=\/2+1?=\/5 ,AD=\/441?=\/17.

- DU ABCD B9 JH K & /26 +
2V5 +V5 +V17=V26+3V'5 +

V17.
(2)WERA - an i, 3%+ BD.

(% 20 M A)
HE A E P, 75 BD=\/3%47=5,
- "BC*+CD’=20+5=25,
BD?=25,
-.BC*+CD*=BD2
~.ABCD ZHM =M,
H 2 BCD=90°.
21.f%.(1)7E RtAABC H1, LABC=
90°,AB=6,BC=8,
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~AC=\/AB**BC? =10.
24 =2 I ,AD=2,

~.CD=8.
(2)%4 BD LAC H}, 2Bt BD /5.
~*BD LAC,

.2/ ADB=/ ABC=90°.

I PN S
~5AB*BC=—-AC"BD,

o 6x8 _24

~BD="77 =7

M A BE P, 4 AD=\/AB-BD? =

18
5

- %t 928 np ks BD Rk

22.%% . (1)CD 4& AT C FT i
SR IE 1Y B

PR :--6242.5%=42.25,6.5%=42.25,

-.CD*+AD*=AC2

~.AADC KW HM = fE.

-.CD LAB.

-.CD & M A = ¢ BT 1 Jge 3 1
.

(2)#& BC=x Tk, BD=(x-2.5)
Tk,

*CD LAB,

- 6%+ (x-2.5)%=x2.

fifif% x=8.45.

2 JEORIMIER BC B R 845 TK.

23.5% . (1)ab+b2

(2 BB 78 abe+b=ab+2 bP-
%aq%cz.

.2ab+2b%=2ab+h?-at+c2

-.a+b?=c?,

(3)--a2+h?=c?, H. ¢=10,a=6,

-.62+b?=102.

~b=8.

-.S=ab+h?=6x8+64=112.
S EN 112.
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£ 301
2 iR
18.1.1 FITUA AR
% 1R
1.18 2.C
3fR. HUA AR A(-3,0),AB=8,
.OB=8-3=5.
o B AEKR R (5,0).
7E Rt AAOD #,0D=\/AD>-AQ? =
\V6%-37=3\/3 .
- U ABCD J& VAT IUIE,
.CD=AB=8.
- 5 C,D AR 3R (8,3 3 ),
(0,3V3).
4.70°
5.D
6.60
7R .- PUIIIE ABCD & F47T 04
ik,
-...D=/B,AD=CB,
T£ AADE F1ACBF 1,
AD=CB,
/D=/B,
DE=BF,
~.AADEx2 ACBF(SAS).
... DAE=/BCF.

15
8. 4

% 2 RE
1A 28
3f#.(1)a/b, £1=70°,
. £3=21=70°.
*AC LAB,
L2+ /.3=90°.
. £.2=90°-70°=20°.
(2)-"AC=3,AB=4,AC LAB,..BC=5.
WHZ a5 b MFEEN h,

.'.SAABCZ%'AC'AB:%'BC'h,

Bl 5h=3x4.

_12.

12

S HZ a5 b E’JEEF:%?@%.

£ 3iRA
1D 2B 38
4. iEFR .- OABCD HIXTfIZk AC,
BD 5 F i O,
~A0=CO,AD//BC.
.. EAC=£FCO.

~h

1£ AAOE Fl ACOF H7,
£ EAO=~FCO,
AO=CO,
£/ AOE=/ COF,
~.AAOEx2 ACOF(ASA).
~AE=CF.
5.D
3R
— JEHES
1~3.BDD
—_EEE
7.110°
8.12
9.8
10.96°

11.2v 7
12.45

4~6.ACC

—_

13.3ERA . R, 13 AE=CF.
- WUJE ABCD J& VAT IUAIE,
~AB=DC, LA=/C.
7E AABE 1 ACDF H,
AE=CF,
/A=/C,
AB=CD,
-.AABEx ACDF.
143ERR ;- UHIE ABCD S FA 704
g,
~AB=CD,AB//CD.
~.LBAF=/DCE.
TEAABFFIACDE 1,
AB=CD,
/ BAF=/DCE,
AF=CE,
- AABF2 ACDE(SAS).
./ BFA=/DEC.
~.DE//BF.
158&. (1) WWilIJE ABCD 24714
WY,
.-.OA:OC:;—AC,OB:OD:%—BD.

--AC=26,BD=10,

-.0A=13,0D=5.

*AD=12,

. AAOD i =5+12+13=30.

(2)UEBA : /1 (1) H1 0A=13,0D=5,
AD=12.

5%+122=132,
. TEAAOD 1, DO+AD*=A02
~AAOD EHM M.

16.f% . (1) PULJE ABCD 217
VT,
~AD//CF.
./ DAE=/ CFE, ~ ADE=/ FCE.
HE & CD I,
~.DE=CE.
1 AADE I AFCE T,
£/ DAE=/CFE,
£/ ADE=Z FCE,
DE=CE,
-.AADEx AFCE(AAS).
~.CF=AD=2.
(2)-- £ BAF=90°,
SBI—AN A Y 2 B=600HT,
/ F=90°-60°=30°( &% R —).
1788 HZ 1L/ L,
~.AABCy, AABC,, AABC; [FJEEi
AB LM AHEE.
~.AABC,, AABC,, AABC; X =4
=M.
~.AABC,, AABC,, AABC; iX =1~
IR,
Bl 5,=5,=S,.
m,
18.%%. (1)iEM .- FEABCD 1,
AB=CD,AB//CD,
./ OAE=/ OCF.
O XLk AC RIS,
~.0A=0C.
1£ AAOE Fl ACOF H7,
£ EOA=/FOC,
OA=0C,
£/ OAE=~OCF,
-.AAOEx A COF(ASA).
~AE=CF.
M EJE AB IAYH A,

AE=L
- AE=7AB.

~"AB=CD,

CE=L1
+.CF=-5-CD.

~FJ& CD P A,
(2)4nA , %4 AC #1 BD &2 T4
0,#%# EO FHMEKS CD TA F

(% 184 H)
JF RIS CD AR .

g2l

INER(ANH)EFRTIE 8 HA

18.1.2 FITMB I HIE
% 1R
1.D 2D
3B AME—, i AD=BC 5{ AB//
CD %

45,4
5.3EBR.--AD//BC,
./ CBE=/ DFE.
E & cD AT,
.~ .CE=DE.
TE ABEC MIAFED H,

£/ CBE=/DFE,

/ BEC=/ FED,

CE=DE,
~.ABEC=2 AFED(AAS).
~BE=FE.
X CE=DE,
- VUihIE DBCF N34T IUHTE.
6.1ERA . % 4% BF,DE.
-'BD 5 EF H. A4,
- VUi J¥ BFDE & 47 UL E.
~.DF//BE, DF=BE.
--AF=CE,
~AD=BC.
- i ABCD AT IE.
7.iERA.(1)--AD//BC,
./ DAF=/E.
HEFECDMA,
~DF=CE.
YEAADF FIAECE Hr,

/DAF=/E,

/ AFD=/EFC,

DF=CF,
- AADF=2 AECF(AAS).
(2).-AADF=2 AECF,
~AD=EC.
--CE=BC,
~AD=BC.
--AD//BC,
- DUIE ABCD & A TIUAE.
8.AB=2BC

% 2 iBAt

1.A 2D
3.f#& .16 AAEB FIAAED H,

/ BAE=/CAE,

AE=AE,

/ AEB=/AED,
~AAEBx2 AAED(ASA).
~AD=AB=3,BE=DE.
~.CD=AC-AD=4.
--BE=DE,BF=FC,
~EF & ABCD My {ii£k.

1

.'.EF=?CD=2.

4.%%.(1)IEH .- D,E 251N AB,
AC I 5,
~.DE N AABC HyH i1 £%.

.'.DE//BC,DE:%BC.

=L
-CF=5-BC,

~DE=FC.
- PUihT¥ CDEF & FATIUihTE.
.CD=EF.
(2)r1(1)%1 CD=EF.
DN AB M, i1 AABC Y
KR 2,
~AD=BD=1,CD L AB,BC=2.
~EF=CD=V2-12=\/3 .

5.15
3 R
— IR
1~3.CCD 4~6.ABA
—EET
7B %A ME— Ul AD=BC
8.2.5 9.120
3
10. 11.6

12.40°

13.iEBA.--DE L AC T A E,BF L
AC T F,

./ DEC=/ BFA=90°,

TE Rt AABF 7l Rt ACDE 1,

AB=CD,

BF=DE,

~Rt AABF=RtACDE(HL).

./ BAF=/ DCE.

~AB//CD.

X --AB=CD,

- MU ABCD &2 47 i .

14 iFFH .- -AB=AC,

./ ABC=/ ACB.

--DE //BC,

.2 ADE=/ ABC, ~ AED=/ ACB.

./ ADE=/ AED.

~AD=AE.

~.DB=EC.

- M F,G,H 4%~ BE,DE,BC
YA,

~FG & AEDB [ H i £k ,FH &
ABCE By i k.

Fo=L -1
~FG=7-BD,FH=7-EC.

~FG=FH.
155%.(1)iF:--AB//CD, ~ B=45°,
.2 C+/ B=180°.

.2 C=135°,

--DE=DA,AD L CD,

- L E=45°,
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o\ FE R

.. L E+ 2 C=180°.

~AE//BC, H AB//CD.

- WU ABCE & AT MiATE.

~AE=BC.

(2)- PYshIE ABCE J& KA IUITE,

~.CE=AB=3.

~AD=DE=CE-CD=2.

- VUihIE ABCE A9 THi fR=3x2=6.

16.f# . (1) UERH .-~ PU3LIE ABCD
AT,

~.0A=0C,0B=0D.

--AE=CF,

~.OE=OF.

X 0B=0D,

- WU BEDF J& K47 MU JE.

(2)-'BE LEF,

./ BEF=90°.

£ Rt ABEF ' ,EF=V/BF-BE?=
\V5-42=3,

CAF—AF=3_
- OE=OF=3-,

—
£ Rt ABEO 7,0B= 42+(—) =

V73
5

N

-.BD=20B=/73.
17f&.(DIEH AE AADBRIAADEH,
/BAD=/EAD,
AD=AD,
/ ADB=/ ADE=90°,
~.AADBx AADE(ASA).
~AE=AB,BD=DE.
X--BM=MC,

1

.'.DM=?CE.

(2)7ERtAADBH ,AB=/BD*AD? =

10.
~AE=AB=10.
mi(1),73CE=2DM=4.
~AC=CE+AE=14.

m\

18.f#.(1)iEM .- -AE 1 BD,

./ AED=/ AEB=90°,

. /BAE + L ABE=90°, / DAE +

/ ADE=90°,

--/ BAE=/ DAE,

./ ABE=/ ADE.

~AB=AD.

--AE 1 BD,.".BE=DE.

X --BF=FC,

1 1 1

} .EF—TDC—?(A C-AD)=7( AC-

AB).

(Z)EF:%(AB—AC).
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